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Section : Part-A-General Intelligence and Reasoning

Q1 Select the figure that will replace the question mark (?) in the following figure series.

Ao x*||[o* * * A
A o ?

Ans

wal

A O

< 3.

*

A O

Q2 Which of the following groups of letters when sequentially placed from left to right will complete the given series?
ghijkg_ijkg_ijk_hijkghij
Ans o 1. hhgk
X 2. kgih
X 3. ijkg
7 4 hghg



Dell
Stamp


Q.3

Ans

A is the father of B. B is the brother of C. C is the husband of D. D is the sister of E. E is the mother of F. F is the wife
of G.

How many male are there in family?
14

X2 3

X3 2

X4

Q.4

Ans

Five colleagues Zoe, Aaron, Ben, Chloe, and Daniel are sitting on a circular table facing the center. Zoe is sitfing to the
immediate left of Aaron. Chloe is sitting next to Zoe. Daniel is sitting to the immediate right of Aaron. Who is sitting to
the immediate left of Zoe?

X 1. Daniel
X 2. Ben

+ 3 Chloe
X 4. Aaron

Q.5

Ans

Eight persons from Reena, Kavita, Raman, Umesh, Rohit, Vikas, Monika and Priva sit around a square table such that
two persons sit in each of the sides. All the persons are sitting facing the centre of the table. Reena sits on

the immediate right of Rohit and they both sit on the same side. Monika faces the one who is second to the left of
Kavita. Monika is sitting fourth to the right of Reena. Two persons sit between Vikas and Umesh (when counted from
one side only) and Umesh is adjacent to Rohit. Only one person sits between Monika and Raman (when counted from
one side only). Who Is sitting second to the left of Raman?

X 1. Rohit
« 2. Reena
X 3. Monika
X 4. Priya

Q.6

Ans

If40A10B8C 15=65and I15A30B 9 C 20 =70, then

7A9B3C8="?
X131
X2 20
X 3. 35
&4 29

Q7

Ans

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
NRT, MQS, LPR. KOQ, ?

X 1. KLR

X 2. MNP

o 3. JNP

x4 TKL




Q.8  In a certain code language, ‘TDG’ is coded as *1680°, ‘BHI” is coded as ‘432’. What is the code for ‘KCE” in that code
language?

Ans 1. 495
X 2. 465
X 3. 425
X 4520

Q9 Arrange the given words in the sequence in which they occur in the dictionary.

1. Let

[

. Lethargy
3. Letter
4. Lethal

5. Lest

Ans X1, 51243
X 2. 15234
X 3. 15324
¥ 4. 51423




Q.10  From the given option figures, select the one in which the question figure is hidden/embedded. (rotation is not allowed)

Ans

& 3.

Q.11 Select the option that is related to the fifth word in the same way as the fourth word is related to the third word and the

second word is related to the first word.
ANT : ANTHILL :: DUCK : POND :: HORSE : ?

Ans X 1. DEN
X 2. KENNEL
X 3. BEEHIVE
¥ 4 STABLE




Q.12

On folding the given die, which letter will be opposite to the letter 'n'?

h
ilr
Pl
n
Ans 1. ,J
X2r
X3 h
X4 p
Q.13 In the following question below are given some statements followed by some conclusions based on those statements.
Taking the given statements to be true even if they seem to be at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion logically follows the given statements.
Statements:
I. Some H are R.
IT. No P are H.
Conclusions:
I. Some P are H.
II. Some R are not P.
Ans X 1. Neither conclusion follows
+ 2. Only conclusion II follows
X 3. Only conclusion I follows
X 4. Both conclusions I and II follows
Q.14 In a certain code language, “TOWARD" is coded as ‘962147°, “WANTED?’ is coded as ‘213957". What is the code for
“WARRANT” in that code language?
Ans 1. 2144139
<2 2133129
<3 2144129
X4 2145129
Q15 By interchanging which two signs and two numbers the equation will be correct?
8+4x6+3-9=1
Ans

X 1. +and *,4and 6
X2 xand+,4and 9
« 3 *and +, 8 and 9
X4 +and—, 6and 9




Q.16

Ans

In the following question, select the missing number from the given series.

2673, 891, 297, 99,2, 11
<110
X2 23
3. 33
X 4 43

Q17

Ans

In the following question, select the figure which can be placed at the sign of question mark (?) from the given
alternatives.

5
b
i

<O

x 2.

el

Q.18

Ans

Select the option that is related to the fifth letter cluster in the same way as the fourth letter cluster is related to the third
letter cluster and the second letter cluster is related to the first letter cluster.
TEA : ZBDFSU :: SIN : MOHIRT :: RIO : 7

« 1. NPHIQS
X 2. SQITHPN
X< 3. SUDFZB
X< 4 BDSHFK

Q.19

Ans

In the following question, select the missing number from the given series.

0,1.5, 14, 30,?
1 55
X2 57
X 3. 66
X 4. 69




Q.20

Ans

From the given option figures, select the one in which the question figure is hidden/embedded. (rotation is not allowed)

4

Section : Part-B-General Knowledge and General awareness

Q.1

Ans

The Nehru Trophy competition near Alappuzha, held on the second Saturday of August every year, is the most

competitive and popular of the
A 1. badminton

X 2. basketball

+ 3. boat races

X 4. horse races

category.

Q.2

Ans

The Sangeet Natak Alkademi is India's national academy for music, dance and drama. It was created by a resolution of

the (then)

X 1. Ministry of Transportation

X 2. Ministry of Art

+ 3. Ministry of Education

X 4. Ministry of dances

Government of India, in 1952 with Dr P.V. Rajamannar as its first Chairman.

Q.3

Ans

The loudness of sound is measured in which unit?

« 1. Decibel (dB)

X 2. Watt/sq. Metre {wf'mz}

X 3. Hertz (Hz)

X 4. Sound intensity




Q.4

Ans

Famous book Arthashastra tells us that the north-west was important for blankets, and for its gold and precious
stones during the Mauryan period.

+ 1. south India
X 2. west India
X 3. north India
X 4. east India

Q.5

Ans

In which of the following states of India is the festival Bonalu celebrated?
X 1. West Bengal

X 2. Tamil Nadu
A 3. Assam

« 4. Telangana

Q.6

Ans

Which of the following is function of the Reserve Bank of India?
I Issuing of currency

II. Lender of last resort
X 1. Only I

+ 2 BothIandII
X3 OnlyI

X 4. Neither I nor II

Q7

Ans

partners with DAY-NULM towards empowering women entrepreneurs in June 2023.

< 1. UNGA
X 2. UNESCO
3. UNDP

X 4 WHO

Q.8

Ans

Which of the following is NOT one of the criteria to measure deprivations in the Socio-Economic and Caste Census
(SECC) 2011 conducted by the government of India?

+ 1. Households with no adult female aged 15-59
X 2. Households with differently-abled members
X 3. Households with only one room with no solid walls and roof

# 4. Households with no able bodied members

Q.9

Ans

Which former SC judge has been appointed as the Governor of Andhra Pradesh?
#< 1. Sanjay Kishan Kaul
«" 2. S Abdul Nazeer
#< 3. Sanjiv khanna
#< 4. Bhushan Ramkrishna Gavai




Q.10

Ans

After independence, India launched its First FYP in 1951, under influence of first Prime Minister Jawaharlal
Nehru.

+ 1. socialist
X 2. capitalist
X 3. Authoritarian capitalism

X 4. Anarchism

Q.11

Ans

In India, subject to the provisions of article 333, the Legislative Assembly of each State shall consist of not more than
members.

2 1. four hundred
X 2. six hundred
+ 3. five hundred
X 4. three hundred

Q.12

Ans

In which year was the Treaty of Amritsar signed?

X 1. 1810
+ 2. 1809
X 3. 1808
X4 1811

Q.13

Ans

Name the Indo-Persian Dance form from Uttar Pradesh.
« 1. Kathak

X 2. Garba

X 3. Chhau

X 4. Kathakali

Q.14

Ans

Pannalal Ghosh is famous for which musical instrument?
Z 1. Shehnai

X 2. Tabla

X 3. Ghatam

+ 4 Flute

Q.15

Ans

Who has been appointed as the second Chief of Defence Staff (CDS) in India?

X 1. Admiral R Hari Kumar
X 2. General Manoj Pande

X 3. General Manoj Mukund Naravane
« 4 Lt General Anil Chauhan




Q16 Which of the following terms is NOT related with cricket?

I. Eagle

II. Basket
Ans X 1. Neither I nor II
X2 OnlyI
2 3. Only IT
+ 4 BothIandII

Q17 Which sport is played by the Indian sportsperson Leander Paes?

Ans X1 Badminton
X 2. Table Tennis
&< 3. Cricket

« 4 Lawn Tennis

Q18 A tank called the NITI Aayog was established to advise the government.

Ans X 1. ethical think
X 2. social think
X 3. religious think

« 4. policy think

Q19 The Constituent Assembly adopted the constitution of India on

Ans X 1. 24th January 1950

« 2. 26th November 1949
Z 3. 26th January 1950

X 4. 15th August 1947

Q20 As per Census-2011,Which of the following states have the highest female literacy rate?

Ans X 1. West Bengal
X 2. Tripura
+ 3. Kerala

X 4. Mizoram

Section : Part-C-Elementary Mathematics

Q.1

The simple interest received on a sum for 5 years is 2/5 of the sum. What is the annual rate of interest?
Ans X 1. 12 percent

2 2. 10 percent

« 3. § percent

X 4. 9 percent




Q.2

Ans

The price of 3 notebooks and 6 pen is Rs. 3000. With the same money one can buy a notebooks and 12 pen. Raju wants
to buy 15 pen, how much will he have to pay ?

« 1. Rs. 3000

X 2. Rs. 3500

X 3. Rs. 2000

X 4. Rs. 2500

Q.3

Ans

The average of five numbers is 32. If one number is removed, then the average becomes 28. What is the removed
mumber?

1 48

X2 52

X3 47

X4 49

Q.4

Ans

If 72 binders can bind 720 books in 22 days, how many binders will be required to bind 660 books in 12 days?

1. 121
<2 120
<3123
x4 124

Q.5

Ans

Rs.8400 is divided among P,Q and R in the ratio of g 23 irespecﬁvely. What is the share of R?

+ 1. Rs. 700
X 2. Rs. 1400
X 3. Rs. 900
X 4. Rs. 18000

Q.6

Ans

25 percent of 20 percent of a number is equal to 250. What is the 35 percent of that number?

« 1. 1750
X 2. 1650
X 3. 1560
X 4. 1570

Q.7

Ans

Find the maxinmm number of students among whom 1003 chocolates and 2703 candies can be distributed such that
each student gets the same number of each.
1. 17

X2 29

<3 19

X< 4. 33

Q.8

Ans

Selling price of a table is Rs. 6875. If profit percentage is 25 percent, then what is the cost price of table?

+ 1. Rs. 5500
X< 2. Rs. 5000
/< 3. Rs. 6400
#< 4. Rs. 5200




Q.9

Ans

The marked price of an article is 60 percent more than its cost price. If 20 percent discount is given, then what will be
the profit percentage?

X 1. 33 percent
X 2. 34 percent
« 3. 28 percent

X< 4. 30 percent

Q.10

Ans

What is the curved surface area of a cylinder having radius of base as 70 cm and height as 14 cm?

X 15930 cm?
X2 6420 cm?
73 6350 cm?
v % 6160 cm?

Q.11

Ans

Rs. 9000 is lent at the rate of 80 percent per annum on compound interest (compounded half vearly). What will be the
compound interest of 12 months?

#< 1. Rs. 9000
~< 2. Rs. 8760
/< 3. Rs. 8700
« 4 Rs. 5640

Q.12

Ans

What is the value of ({}_1)2 +(0.01 ]2?

+ 1. 0.0101
X2 0.111
X 3.0.005
X4 1.101

Q.13

Ans

If the cost price of 6 pens is the same as the selling price of 5 pens. find the profit/loss percentage.
< 1. 20% loss
« 2. 20% profit
2 3. 10% profit
X 4. 10% loss

Q.14

Ans

A trader marks his goods 50% above the cost price and offers a discount of 20%. What is the percentage profit the trader
makes after offering the discount?

X1 12%
<2 10%
« 3. 20%
X 4 18%




Q.15 The product of two numbers is 720 and their Highest Common Factor is 4. What is the Least Common Multiple of these

numbers?

Ans 1 180
X 2. 240
X 3. 480
X4 120

Q16 Radius of a sphere is increased by 50 percent. What will be the percentage increase in its volume?
Ans X 1. 225.5 percent

o 2. 237.5 percent

X 3. 235.5 percent

X 4. 150 percent

QA7 I 45 percent of X is equal to 15 percent of Y, then what is the value of X : Y?
Ans X 1.3:1

X2 1:4

X3 3:2

4 1:3

Q18 What will be the average of all the prime numbers before 327

Ans w1 14.54
X 2. 15.60
X3 13.26
X4 17.82

Q19 Swapnil can build a sofa in 16 days. Working together with Revathi he can finish the work in 128/17 days. Find the
number of days taken by Revathi to complete the work if she works alone.

Ans 1. 128/9 days
X 2. 128/16 days
2 3. 128/17 days
X 4. 6 days

Q20 A train of length 384 metres crosses an electric pole in 12 seconds and crosses another train of the same length

travelling in opposite direction in 12 seconds. What is the speed of the second train?

Ans X' 1. 30 m/s
X2 45m/s
X3 25mfs
4 32m/s

Section : Part-D-English




Q.1

Ans

Find the part of the given sentence that has an error in it. If there is no error, choose *No error’.

Do your better and avoid what others are saying about you.
X 1. avoid what others are

X 2. No error

X 3. saying about you.

« 4. Do your better and

Q.2

Ans

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
The toad lay in her lap breathing heavy.

X 1. No error

2 2. in her lap

X 3. The toad lay

« 4. breathing heavy.

Q.3

Ans

Select the most appropriate option for the given blank.

Thave ~ my mind after meeting her.
X 1. Masked

X 2. Granted

X 3. Replaced

« 4. Changed

Q.4

Choose the most appropriate antonym of the underlined word.

Visitors enter the train and snake through its corridors and opulent interiors.

Ans X 1. lavish
X 2. scary
+ 3. economical
X 4. plush
Q.5  Improve the underlined part of the sentence. Choose “No improvement’ as an answer if the sentence is grammatically
correct.
I was needing to buy a new pair of gloves.
Ans

X 3. needs to buy

X 4. No improvement

X 1. needed to bought

« 2. need to buy




Q.6

Select the most appropriate synonym of the given word.

Absolute
Ans X 1. Bounded
« 2. Complete
X 3. Divine
X 4. Final
Q7 Choose the idiom/phrase that can substitute the highlighted group of words meaningfully.
I have never seen someone so easily scared. She is so nervous.
Ans X 1. In seventh heaven
+ 2. Afraid of one’s own shadow
X 3. Spilled the beans
X 4. Lost cause
Q.8 Inthe following question, out of the given four alternatives, select the alternative which best expresses the meaning of
the Idiom/Phrase.
Go with a bang
Ans X 1. Party like there’s no tomorrow
X 2. Decide according to the situation
X 3. To go crazy
« 4. Very exciting and successtul
Q.9  Four sentences are given, out of which three have all correct spellings. Choose the sentence with the incorrect spelt
word/ words.
Ans X 1.
Rosemary was from the middle of the middle class, catapulted by her mother onto the uncharted heights of Hollywood.
X 2. They had been two days in Paris but actually they were still under the beach umbrella.
x 3.
He walked on choking and would have marched directly up into the other party. but Abe stopped him.
« 4. This reproach of my dependance had become a vague sing-song in my ear.
Q10 select the most appropriate word to fill in the blank.
With sales down, the company closed one factory down and reduced workforce at another.
Ans X 1. an
+ 2. the
X3 a

X 4. No article




Q.11

Ans

Choose the word that is opposite in meaning to the given word.

Aqueous
X 1. Wet
X 2. Hydrated

X 3. Saturated
« 4 Arid

Q.12

Ans

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence

meaningfully. Select the option 'no correction required' if the sentence is correct as given.

Presently Rosemary (seems to have know) those people herself in some deplorable past, and then got on to them and

rejected them.
+ 1. seemed to have known
X 2. No correction required

X 3. seemed to knew
X 4. seem to know

Q.13

Ans

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
Some analysts have began to advocate for strong government involvement in the development and regulation of cyber

security standards for satellites.

X 1. of cyber security standards for satellites.
« 2. Some analysts have began to advocate for strong
X 3. government involvement in the development and regulation

/< 4. No error

Q.14

Ans

Select the sentence with no spelling errors.
x 1.

There was acute disharmony in the room, where a little time before there had been at least an outward show
of harmonie.
x 2.

There was acute disharmony in the room, where a litle time before there had been at lest an outward show of harmony.

x 3.

There was acute disarmony in the room, where a little time before there had been at least an outward show of harmony.

o 4.
There was acute disharmony in the room, where a little time before there had been at least an outward show of harmony.

Q.15

Ans

Improve the underlined part of the sentence. Choose “No improvement” as an answer if the sentence is grammatically
correct.
If you don't water your houseplants. they will dies.

1. will die

X 2. will death

X 3. No improvement

X< 4. shall dies




Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

Lions have large jaws and are capable of (1) up to 11 inches wide. They have long canine teeth which are used to
(2) and kill their prev. Lions do not chew their food. Small incisors at the front of their mouth are used to grip
the meat (3) their sharp carnasial teeth in the back of their mouth tear it into (4) they can swallow. In the

wild male lions live to around 12 vears of age, with females living to around 15 years of age, whereas in (5) they
can live up to 25 years of age.

SubQuestion No : 16

Q16 Select the most appropriate option for blank (1)
Ans X 1. signing

X 2. standing

X 3. jumping

« 4. opening

Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

Lions have large jaws and are capable of (1)  upto 11 inches wide. They have long canine teeth which are used to
(2) and kill their prey. Lions do not chew their food. Small incisors at the front of their mouth are used to grip
the meat (3)  their sharp carnasial teeth in the back of their mouth tear it into (4) they can swallow. In the
wild male lions live to around 12 years of age, with females living to around 15 vears of age, whereas in (5) they
can live up to 25 years of age.

SubQuestion No : 17
Q17 Select the most appropriate option for blank (2)
Ans 1 grasp

X 2. host
X 3. |oathe

X 4. remiss

Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

Lions have large jaws and are capable of (1) up to 11 inches wide. They have long canine teeth which are used to
(2) and kill their prey. Lions do not chew their food. Small incisors at the front of their mouth are used to grip
the meat (3) their sharp carnasial teeth in the back of their mouth tear it into (4) they can swallow. In the
wild male lions live to around 12 years of age, with females living to around 15 vears of age, whereas in (5) they
can live up to 25 years of age.

SubQuestion No : 18
Select the most appropriate option for blank (3)
Ans 1. Whilst

X 2. What

X 3. Whence

X4 As

Q.18




Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

Lions have large jaws and are capable of (1) up to 11 inches wide. They have long canine teeth which are used to

(2) and kill their prev. Lions do not chew their food. Small incisors at the front of their mouth are used to grip

the meat (3) their sharp carnasial teeth in the back of their mouth tear it into (4) they can swallow. In the
wild male lions live to around 12 vears of age, with females living to around 15 years of age, whereas in (5)

_ they
can live up to 25 years of age.

SubQuestion No : 19
Q19 Select the most appropriate option for blank (4)

X 1. divisions
X 2. hordes
+ 3. chunks
X 4. pecks

Ans

Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

Lions have large jaws and are capable of (1) up to 11 inches wide. They have long canine teeth which are used to

(2) and kill their prev. Lions do not chew their food. Small incisors at the front of their mouth are used to grip
the meat (3) their sharp carnasial teeth in the back of their mouth tear it info (4)

they can swallow. In the
wild male lions live to around 12 years of age, with females living to around 15 years of age, whereas in (5)

_ they
can live up to 25 years of age.

SubQuestion No : 20

Q20 gelect the most appropriate option for blank (5)
Ans X 1. disaster

X 2. banality

« 3. captivity

X 4. greenery

Section : Part-D-Hindi

! U wes &1 yaigard 3| S|
Ie

Ans X 1 HH
X 2. affeqy
X3 H

v 4 3Fg




Q.2

Ans

T 997 #, 97 TFeat § ¥, 37 TeT e &7 999 FT F I F O F qe F FFheT
gl
Ser g FaF e

X 1. FgegA
¥ 2 SRYTOr
X 3. gare

K4-$?'QP‘IEIT

Q.3

Ans

T 9o &, IX Reeal & ¥, 38 T #1 9949 #{ T =g == & v gar o aern
eIl
ST H T ge=i ganT F O T off 99X F FT T FE 5 T H G Bmar g

X 1. HeE
2(2.%1’

v 5 USRI
X 4 3eTTA

Q.4

Ans

frrafafaa 9o &, fow 710 a) wedt & @, 38 feey & 797 & & Ry o0 ggay & o9 &t
IS T U Ted LT gl

Foo] HAT FIT

X 1. gEY 39T @ar
v 2wy g T
X 3. grer & BT

X 4 FaredieT g

Q.5

Ans

faoaa 7o A, 9% @Fcar § ¥, 39 T &7 999 T 3T #5* H &U 70 g F 949 &
T fAweT &1

EH ZHUA TP HTOTS ST AIeT 3 () EE|

X1 g g

2. FHIEOT

=

< 3. e
X 4. HTEIROT

Q.6

Ans

& T are # Ywifdhd eg &1 faiiH Wse I1d HIfOY |
g4 SlduH ¥ ST S 91|
x 1. zﬁgm:[

v 2 Fpid

X % BleTg
X 4. U




Q7

Ans

FrafeRad vy o, i3U U IR el # 9, 39 fddhed &1 98+ & Gl 1Y U HeTar & o P Y998 ¥ 9 Had
GG

fseBIel 1 REl

X TR B

X 2 T

X5 G g

v gl o = THEHT

Q.8

Ans

f=fa we &, 9 Rewest 7 &, 38 e &1 797 # S Red 7= & e & gfeemr & aman
e &nl
ﬁ%ﬁrmﬁmmm%, Fr IJITF HTF

X2 fed ae
X 2. e

v 5 HHEAR
X4 oz

Q.9

Ans

frrafafea s #, 38 s & sgefav Sad Jmet @ d9fta sefaat g afe a5 o =@ ¢
& g g 78 & # g wife

arsfr O STAY $HE AT @ oEH 3/ R gET 3EH FA T @, WG 3T SHS FA gH T
& Ear gl

X 1. orET FT 3HEr FA T @, WG 38 3

X 2. T FHAT ST &7 BT &
v 3 ol O SHONY gl F4aT & oEH 38y

xa g e A E

Q.10

Ans

fa=fof@a goa &, aX Reeat & @, 37 Bee &1 99+ 5¢ 3 =9 o= & @w @@ o= aer
ICET==l]
T ¥ AAEA off fhar 37 Wear § 99T e AT & off 9grF &7 =T TeRar gl

X1 i
X 2 gifeq
X3 ofed
v onfa




Q.11

Ans

fT 717 I # e oreg A9 fifaT

g S FF ¥ TEL-9eT T I &1 3T I g ST
X1 gt

o 2. dd-Ucdd

X3 P

x4.?‘5ﬂ3[

Q.12

Ans

T 71T a7 # W@iea o= & T @@ 9947 919 Ffew)
H3eh =IET gelr Mg

X 1. =

xgzﬂ%

« 3. =iEr

X 4. =rEr

Q.13

Ans

fa=fofaT goa &, 91X Reedt # @, 39 5T &7 999 ¢ 3 #1535 # U 7v 9 ¥ fFaH =
FT T eeT & 1
¥ YR TH Oar Fr @ 7 (B T F 3T HET T2 T

}(1.3‘:6i§-'|
X2 e
v 3 \Ed
74 s

Q.14

Ans

f&T 1T Xeg o7 gaigarel F1d o |

Higan
K1.@a'[
@2.@

X 3. Yol
X 4. 3

Q.15

Ans

f&T 77U a1 H1 98 HFT J1d &3, [5G0 g I B
gferg - IRt & Y T SRR &1 9hs forT|

X TR DI
V2 Hyad
X o g A gRl
X 4 O fem




Comprehension:

A R a3 sgamr A Fo weg o P v €, 990% Heg=oe & FAA 9K Aeed U aw §1 39
T FT CAFEF ¢ HY TR Repedt § & HafeadH 3eal e Fohed o

AT TERT FT 87 § SHfeT T8 9+ i tF AR F = H JTAT &1 ST FT e
TR freT gftg ¥ @ o1 =R RE o F mar S aen SE ged 9% <R ¥l 39 RN @
T F AEE & A7 T o T F1aT g1 Eeir F°7 c8EgR #T & GIU-T1Y J97el, ST, A,
e, FareT JAW FF 2 H ofr 21 = RN F T T F &@6T 79 & TR 7 ar
3T JAT FT AT arel @l Y 57 HER H a5 ¥ T o9 g Ipia off T R ¥ 59
R # wfEAfE @ & TR HR T e g e s wg e Bl T8 gl aea
oM THER &, 3F T Wl T v gEy @ o e @et-galt 56 R # A ) 5w cAen &
v afFa & & st el e of 57 foF I # wew S 71 s@fow dehr & T cTRER
3fr FgT TaT §| A AT S ¢ gl T cER g9 a6 & FAr S @ g1 g # I g% W
IHTOTE B AT & TdF & & H ASA AdT g, T & T AF-AEAT F7 & 9l ¢

SubQuestion No : 16

O sa ERT F 2y ¥ ORT TE vdw RBE e OER w9 A ST ¥
Ans X 1. T

x 2. ﬂ?I'ITIT

X3 fegrar

v 4 FATET

Comprehension:

A T 3 gmmr # Fo g oF ¥ v €, 99% w=ie ¥ e IR eew R e #1 3w
T FI CAAEF ¢ AN TR Repedt § § Hafeadd 3eal are Sehed I

AT RN T 33T § SHIT T8 9o o UF RN & &9 H ST §| SR FT g &+
ER e wfig ¥ 2 #1 SR g o & FamEr S S gE §ed a3 AR §) 59 AR A
T F WEX & A7 T o =T F1aT g1 &l T 3R 91T & GIU-ArY 9T, ST, A,
HTETOIAT, FaTST S0 F5 o & off ¥ =7 ER Fr @ Tt F & 7ary | a9Ae 7 ar
3T gAT FT AT Tl AT & 7 TER H a9 ¥ 7 9 gl i of T e ¥ 59
R # wEAfE @ & TR AR T R g Rew s wg e B T8 gl aea
I RN g, 36 &7 Wi @7 ve g @ o fAee Ge-gel 36 QER & A4 &1 36 cdeR A
v ofFa & & aut quel Qe off 5w fow e # "cw S &1 sHfow gl &+ F ARER
o T 74T ¥ AT A ST § F g F ARR AR a6 § AT S @ g1 g # R g8 W
3o Fr AT F uAF F T F AQTT FGT g, T & I JF-75 F & g 7

SubQuestion No : 17

Q7 243 1 RN SRE & FU-TY S, SR, FANE, W, Fam S FS i A
gl

Ans x 1. ﬁl‘ﬁ'l?—l’
X2 fEga
X3 ogiEEa
v 4 gfag




Comprehension:

A R a3 sgamr A Fo weg o P v €, 990% Heg=oe & FAA 9K Aeed U aw §1 39
T FT CAFEF ¢ HY TR Repedt § & HafeadH 3eal e Fohed o

AT TERT FT 87 § SHfeT T8 9+ i tF AR F = H JTAT &1 ST FT e
TR freT gftg ¥ @ o1 =R RE o F mar S aen SE ged 9% <R ¥l 39 RN @
T F cAEN & A7 T o T F1aT g1 &6l 7 R 9T & GIU-ATY J97e, ST, AT,
e, FareT JAW FF 2 H ofr 21 = RN F T T F &@6T 79 & TR 7 ar
3T JAT FT AT drel AT Y SH TER H a5 B T o9 g Ipia of T e ¥ 59
R # wfEAfE @ & TR HR T e g e s wg e Bl T8 gl aea
oM THER &, 3F T Wl T v gEy @ o e @et-galt 56 R # A ) 5w cAen &
v afFa & & st el e of 57 fow I # wew I 71 s@fow el & T cTRER
3fr FgT TaT §| A AT S ¢ gl T cER g9 a6 & FAr S @ g1 g # I g% W
=TS H AT F IAF F T H AQ AT §, T § IF JAF-AET F o v

SubQuestion No : 18

W mm A A s O W A TS A A sE SRR A A mew e §
Ans X1 geAdT
v 2. GRUTH

X 3. uaT
X 4. g

Comprehension:

A T a3 sgamr A Fo weg o F v €, 999 He=oe & HAA 9K f@ed QU AT gl 39
TEITY FT CAAES ¢ AR AR et F & HaeaH 3eal aren Fehed I

T TERT FT 827 § ST T8 9 & TF AR & &9 # AT &1 RS FT e F+
R e 9fig ¥ @ #1 R R o F war S 9T SE FeE § e ¥l 3 RN &
T & ER F A7 ¥ 7 S A1 g gl 1 g’ $Rd F FWY-HY A9, Sivenee, 3R,
HTETorT, FaTer S F2 2 F o g1 3§ e # 73l T F ST AA 2 goAe 7 oar
Heg gAf B AES T AT off =W RN F T ¥ T o9 g1 I of v e ¥ 5
R # wFEAfE @ & TR AR T R g Rew Y s wg e B T8 gl aea
TN TR §, 50 F w7 v g @ e e @A-geh 59 R # A §) 5@ R &
o o § T aet quelt qeeel off 59 R Qe & sger Sl 31 @I gl o T OER
ofr g7 AT g1 THT A S § F gl F AR R a6 § A S @ gl g F AR 08 W
oS H AT F IdF F T H IS AT g, T & g JAF-m F of od g

SubQuestion No : 19
Q.19 : + + +
TR HR T @G $o W a) 999 ®g
Ans v Jﬁﬂ e
X2 g

X3 qed

x 4. ‘-'-lf»l’

e g




Comprehension:

A T 73 gmmr # $o el o P v € 9939% we=ie ¥ e 9K Reew R e #1 5w
T FI LAFESF ¢ AN TR Reedt § & Hafead 3eal e Fehew o

AT TTERT FT 827 § SHT T8 9 & TF AR F & H AT &1 SART FT e
ER faeT 9fag &1 @ =1 OER g oF § #9r A aen G §eW 997 AER g §6 cAER #
T F RN & A7 F & Ja AT £ 8l T 18R HT & JTU-81e 9T, aeanegel, JHTIe,
e, FaTeT S &S 2o F of 21 =W RN # " F9F & T A9 § oA Foar
Heg At B AAS T AT off 37 ER F TS ¥ 7 &9 gl i of T e ¥ 59
R # wFEAfE @ & TR 6R T R g Rew Y s wg FeTe §1 TE g aea
AT R ¢, 9 & Wl T v g@l @ ol Aot gl 5§ OER & A4 € 5§ dER A
v ofed & B st quel geEel o 5@ e A # age S &1 sHhfeT 2 FT ER
o gT TTAT §| TAT AT AT g T @O T AER g aNt § AART S @ g1 g B RN aus W
=TS H AT F IAF F T H AS F1GT §, T & g JAF-mE F o o g

SubQuestion No : 20

0N AT A = T TOIER &7 Fgr Iam g

Ans

X1 ATy
X 3. qreAT aTETdr
v e






